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1 HERY E— FEM 38 39 77
2 BB BE=E MR 36 41 77
3MA Xk £ T 1] 39 41 80
4EE E etih] 39 42 81
5FE —= ARm 4 4 82
6% = FEH 40 42 82
1TER i ™ 38 44 82
8 Xa & MR 44 39 83
9 FyA® 8k HFMm 40 43 83
10 fF#& IEF| ERT 39 44 83
11 B8 &A FEM 45 39 84
12 58 kB INFHKH 42 42 84
13 #H AX ™ 42 42 84
14 BH 88X fatE™ 41 43 84

15 ¥AIEF BE i ®BFH 43 42 85

16 [E:2 7 Eptadisl 40 45 85
1798 = ™ 40 45 85
185 2= ™ 46 40 86
19 FilE X FEM 44 42 86
20/hNE H sl 43 43 86
21 ;158 =1 EiEH 43 43 86
22 5K EA Ml 43 43 86
23 B4 Rl FEH 46 41 87

24 B2 EE HB®RFHh 45 42 87
25 B X ot 43 44 87

26 FBAR HX BHM 42 45 87
21 Bk R® FEH 41 46 87
28 FHfE 1E2Z2 FEM 48 40 88
29 AE R FEH 45 43 88
30 A BHME XKET 45 43 88
31 HE R FNEE™ 44 44 88
32 B & FER 46 43 89
BLIE Hift e 45 44 89
34 RE FHE B&Emh 42 47 89
Bk FF WEM 42 47 89
36 FrE B2 ES R o] 42 47 89
IVHB/AR = IR 45 45 90
38 A HH etii] 50 41 91
39 F B XKIRT 49 42 91
40 £1L % etii] 47 44 91
41 FR IERXR et 47 46 93
42 H 8= R E 45 48 93
43 Fid 58 XKIRT 42 51 93
M \5H & =il 52 42 94
45 $5K Hak =Kl 47 47 94
46 BH NA KiEgEMm 47 47 94
47 B E— et ] 44 50 94
48 SH T izl 51 44 95
49 EH R INTFRH 48 47 95
50 Z&B IEFR izl 47 49 96
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51 £k Higk izl 46 50 96
52 Zix &IE etih] 50 47 97
53 shith BB fmiET™ 49 49 98
54 thft BR etih] 51 48 99
55 AR EX AR 52 48 100
56 fEmE =7 ENA& AR 54 55 109
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